RA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-705 Masonite FG NI\C - Drawings\REV 2018 IBCO\TX-4674.76.dwg, TX-4674

POWERED BYqul

ENDURA

DOOR COMPONENTS MADE IN THE USA

Glazed Fiberglass Door

"NON-IMPACT"
INSWING / OUTSWING

EVALUATED FOR USE IN THE STATE OF TEXAS

The Glazed Fiberglass Door system described herein compilies with the 2018
International Residential Code {IRC), Sections R301 & Ré09 and the 2018
Infemational Building Code {IBC}, Sections 1404.13, 1609, 1709.5, 2403 and 2404
subject to the following conditions:

1. Anchors shall be as listed and spaced as shown in the details. Anchor
embedment to base material shall be beyond wall dressing or stucco.

2. When used in areas requiring wind-bome debris protection this product is
required fo be protected with an impact resistant covering that complies
with Section R301.2.1.2 of the IRC and Section 1609.2 of the IBC.

3. Allowable design pressure requirements must be equal to or less than the
design pressure rating shown in the design pressure chart, sheet 1 of this
drawing.

4. Conditions not covered by this drawing are subject to further engineering
analysis. ' '

TABLE OF CONTENTS

SHEET # | DESCRIPTION
1 Typical elevations, design pressures & general notes
Door panel details
Slidelte panel details {fip lite insert glazing)
Horizontal cross sections
Vertical cross sections
Vertical cross sections
Frame anchoring

~Nios|Gh |~ |WwiN

112.25" MAX. OVERALL

FRAME WIDTH

82" MAX. OVERALL
FRAME HEIGHT {INSWING)

81.125" MAX. OVERALL
FRAME HEIGHT (OUTSWING)

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123
P.O. Box 230 Valrico FL. 33585
813.659.9187

BUILDING CONSULTANTS, INC.

Documents Prepared By
thone Neo.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

[0)'(e] INSWING +60.0 -60.0
PINE
(0) (o) OUTSWING +50.0 -50.0
oXxo INSWING +50.0 -50.0
"FusionFrame"
oXo OUTSWING +50.0 -50.0

w
=z
52
4
=
gy
<
o Ly =g
> 5l L©
SR |- S
& = o
wl o
a0
4 Fx
¥ o €3
=0
g S
o) - ﬁ'é'-:’
e g o
o. a.
20 I
Li o
L
a
S
K0
O
8|l
Elo]
Sl@] {n
R z
o0 1O
59| 2
glo| @
=
S|
bl
olE
15
<
[¢)}
NEE
Q <
AN (=)
-l 1o
z
oaTE: 11,/09/16
scaLe:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4674

SHEET 1 oF 7




AN SINVLINENOT SNITTHNE MY 9102 O

Z68L1~4 # NOLVMISIOSN 40 IAVOIHILNID SNOISIAY

SYIINIONI TYNOISSIAONMd 40 QMvO8 SWXAL m.wwﬁmm% Wﬁm%@owo AH 41vd [ON

LB18°659°CL8 FON uoUg . 3000 0481/081 810z 0L 3ivadn

S6GEE 14 OOMIDA 0SZ Xog .O.Q\N\Mug "ATENISSY O Lavd | 557 % NOILJO  8wo.juoisnd, aaviel/cz/oLf |
"ONI ‘SINVLINSNOD SNIgliNg

JK
LFS

oF_7_

N.T.S.

TX—4674
2

£ZIYOL# "B'd SVYXIL VHNAN3G
Hd CIPIWYOS g uopuky :Ag peJndeug sjuswnoog 110Naodd

oaTE: 11,/09/16

SCALE

DWG. BY:
CHK. BY:
DRAWING NO.:
SHEET

oLl

L'l

EXTERIOR

/i
I/

/1.
[/

]

/"2 \ VERTICAL CROSS SECTION

. :

TOP RAIL
[WOOD)

FIBERGLASS

DOOR SKIN
INTERIOR

FOAM CORE

BOTTOM RAIL
(WOOD COMP.)

STILE {LVL)

|
e

WOOD LOCK BLOCK

(12" LONG])

/

—l:::ﬁﬂ;:::;:vuﬂ

Trlennium®3000 Series

Multipoint lock (3pt.)

INTERIOR
EXTERIOR

DOOR PANEL
Endura

/1 "\ HORIZONTAL CROSS SECTION

\2/
HARDWARE

(e

‘—IEJ.E.E_ HITTHTH 2SN

—— A - A

TABLE

AV
\ SEE

J

21" MAX.
Masonite
Fiberglass

D.L.O. WIDTH
D
/
D
DOOR PANEL

|/||||||/

EZUL

35.75" MAX. PANEL
WIDTH

] 6"

VA

STILE (LVL)

@

IHORH "O 1A XV .£9

IHOEH TANVd XYW 5T 6L -

/
DOOR PANEL SKIN: FIBERGLASS (0.075" MIN. THICKNESS)
CORE MATERIAL: POLYURETHANE FOAM (1.9 PCF MIN.}

€2 'BMP'9LrL9r-X N8I 8L0Z AZY\sBuimelq - D\IN 94 3nuosen §0L-4d - laL\su} jo 1daq sexal - G\LNINVIANYId BInpuUI\SIuRIiD\Y



R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-705 Masonite FG NI\C - Drawings\REV 2018 IBQ\TX-4674.76.dwg, 3.3

STILE (LVL)

A~

1.6"

35.75" MAX. PANEL

WIDTH
D
/
10 4
\3 /| v
T
O
T
%
é
>
<
=
&
(N
/
|/
|
<>
SIDELITE PANEL
Masonite
Fiberglass

INTERIOR

W
~\\

EXTERIOR

/"1 "\ HORIZONTAL CROSS SECTION

3/

=
——1.75" "‘l

STILE (LVL)

TOP RAIL
{WOOD)

= 1.6" —

FIBERGLASS
DOOR SKIN

Vi

7

/.
7

|

#6X1-1/2"
21" MAX. 2
7] DLO.WIDTH | T INTERIOR —— 1/2" OVERALL GLASS THK. T_\
3 !!! 1/8" TEMPERED GLASS
S §l h‘s AR SPACE INTERIOR
- \1‘.}!, \ 1/8" TEMPERED GLASS
Z:ED EXTERIOR STEEL SPACER
et L QSO SEALANT
9 #6x1-1/2" PPH SMS LOW TACK SEALANT
3 b P @ GLAZING DETAIL
< =
= S
3 1
S FOAM CORE ||
R ~
: ot .
I
(TvP) ”J R
ODL LITE FRAME ! f BOTIOM RAL
(WOOD COMP.)
38"

SIDELITE PANEL SKIN: FIBERGLASS (0.075" MIN. THICKNESS)

CORE MATERIAL: POLYURETHANE FOAM (1.9 PCF MIN.)

. ODL LITE FRAME
HP Polypropylene

- 1.75" ~—}

/ 2"\ VERTICAL CROSS SECTION

3/

v\'\:\.\"\.\\\’]l h‘!n
Sl -

SeTint, ¥y £3 0
LKA 2S¢ o EY
Sx ix £ B y2
el 0i;m hy B BT
S horig i wogm 20
Guibd i w S ap W
?ﬂio‘.\?u . £ > 2=
g s LR [+3 OO! bd
£XTENS tat v 00 55
X F €+ BT £
SN S > Jg0 hE

S e, 12 D5 0

OIS TS on &k

~ "23'{ “s'{E*J Ogm 85
- et & O%: §Q
v (z’ 32 h-m
e 59 ¢ Oi
= 0
& 292 gp
o oo o 06
2} § &
el
5 E
P R i
5 O
Q
O
[a]
N
)
-
3
ad
b
2 . D&
> S| 2
o F <9
& |3 o=
Ll
ol g
< =3
e o &
Dn
EXTERIOR 3 Siksl
o &
© <
o o.
21 >
L o
Let
]
o
3|0
©
8l
Ko
S|o| n
A pd
o2 1O
S| 2
Eo| 1@
SIF| =
S|u
Ll
Sl
o
35
<
(o]
N
D[
N AN
-l o
pd
paTe: 11/09/16
scae:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4674

SHEET 3 oF 7

© zo1e R.W. BUILDING DONSULTANTS INC.



R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-705 Masonite FG NI\C - Drawings\REV 2018 IBC\TX-4674.76.dwg, 4.3

1 OGS SEUIN an
5 5 —~ = : E ZE 9: %g & o~
':“;‘ }'..u*‘s ;.:’ v te B 0 wo
= gove iT 3\ £ @ ub
ety i0im oflny ¢B 87
b 4 o b‘?,/?’ AR Nfped #F oo Gu
S AN |52 gtE g
% e Pt 7] o
/ / / %‘fﬁ—"-._ 01T N Eg x2g 88
J a a T 7 3% fs
/ / / BACK-TO-BACK JAMBS: Mrxint % 58° 92
‘l —_— " "FusionFrame” (1 OR 2-PIECE) i & o xS &
FusionFrame . 3 23% u,
\ 4/ (4N 5 MULLION g 9458 o
£33 TN, ™~ G ¢
4/ |- O 3 ) INTERIOR nox2izem s R LE
O X A - = WOODSCREW  |E o2 [?33
‘B v #8 X 2-1/2" FH COURSE O [ | ENDURA WEATHERSTRIP (SEENOTE 2) 3
\ 4/4' THREAD DRYWALL SCREW {QEBD/PE 650) o
n (SEENOTE 1) ENDURA WEATHERSTRIP SIDELITE PANEL
' \ DOOR PANEL (QEBD/PE 450) /
/ / /
A . N .
74 a4 4 ) Xs g _8
/ / / % oA <C e =5
~ - g 0. =3
= o Fn
& O = CKU)
b b q xldl S
- / #10X 3" PFH o L R
SIDELITE PANEL HIOX21/2PFH woobSCREW | 2|4 ©
5 3N 1N 20 4 . #8 X 1" PFH SMS DOORPANEL  puumpomnt WOODSCREW seeNotET) |8 5
CORNER PADS W ww #8 X 2-1/2" PFH WOOD SCREW STRIKE PLATE 3 =
(TP #8 X 3/4" PFH SMS 4" HINGE EXTERIOR & &
/" 3"\ HORIZONTAL CROSS SECTION (4™ HORIZONTAL CROSS SECTION 2 B
w Outswing shown - Inswing also approved \‘_1/ Outswing shown - Inswing also approved -
. 15" e 1 5"~ Qx§
] wooD | 4-3/8" FATBOY 4-3/8" FATBOY 5 2
\ N PINE MULLION PINE MULLION \ g g .
L=
\ _ #8 X 2-1/2" FH COURSE ENDURA WEATHERSTRIP THREAD DRYWALL SCREW E N LSLJ
i 2 THREAD DRYWALL SCREW (QEBD/PE 650) (SEENOTE 1) Eol &
o) ) 2
< q ? < {SEE NOTE 1) \ DOOR PANEL ENDl(Jgé\BVI‘)w/;EI,:ET IZEOR)STRIP : ‘ / /SIDEUTE PANEL § L'}(J
' : = . e
L) - iy A 33
D D ;::ik /1(///'/1’»{//’/" ;
- - 2 \ < -7 S S e
| N ) ~ N N N
[ R ~ / - S I°
25 25° / / - ) J R
" DATE: 1 1 Og 1 6
EATBOY MULLION MULLION SIDELITE PANEL / #8 X 1" PEH SMS oo 4 - #10 X 2-1/2" PFH WOOD SCREW = /N 'Té .
PINE "FusionFrame’ #8 X 2-1/2" PFH WOOD SCREW MULITPOINT Pm— UK
#8 X 3/4" PEH SM$S 4" HINGE EXTERIOR STRIKE PLATE ok o LFS
NOTES: DRAWING NO.:
1. Spacing for sidelite screws: 6.5", 38.5" and 69" from head to sill (3 fotal). m HORIZONTAL CROSS SECTION /g\ ggﬁaogw'nﬁﬁg% iigggp'i) - TX—4674
2. Spacing for mullion screws: 4" from each end plus 3 more equally spaced (5 total). W Outswing shown - Inswing also approved v g SHEET 4 OF 7

© 20716 R.W. BUILDING CONSULTANTS ING.




RA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-705 Masonite FG NI\C - Drawings\REV 2018 IBO\TX-4674.76.dwg, 5.3

EXT. SHEATHING

\

1/4" MAX,
SHIM SPACE

DOOR PANEL

™~

EXTERIOR

A\

71"\ VERTICAL CROSS SECTION

\y Outswing shown - inswing also approved

0.75" —1<—>1

4.56"

—4 1.25" L‘__,

0.75" —I———ﬁ
SR
COMPOSITE
SNAP-ON
CA{\

oo/

LVL

1.25

—

[~ 075

125" jee—
JAMB / HEAD JAMB / HEAD JAMB
PINE "FusionFrame" "Fusionframe"
{1-PIECE) {2-PIECE)

#10 X 2-1/2" PFH WOOD SCREW

1/4" MAX.
SHIM SPACE
JAMB: PINE
#8 X 2-1/2" FH COURSE \
THREAD DRYWALL SCREW
(SEE NOTE 1)

/ /DRYWALL
Y S A INTERIOR

SRLLOERE LAY

™\

2X FRAMING
(G >=0.42)

e e s b A

SIDELITE PANEL

EXT. SHEATHING

/~4 "\ HORIZONTAL CROSS SECTION

W Outswing shown - Inswing also approved

SHIM SPACE

JAMB: "FusionfFrame”
{1 OR 2-PIECE)

#10 X 2-1/2' PFH
WOOD SCREW

#8 X 2-1/2" FH COURSE
THREAD DRYWALL SCREW

(SEE NOTE 1)\

\

2X FRAMING
(G >=0.42)

T —

ey

NN Mg Mg

R S

-

SIDELITE PANEL

EXTERIOR

EXT. SHEATHING

7”5 "\ HORIZONTAL CROSS SECTION

\y Outswing shown - Inswing also approved

2X FRAMING uj
2X FRAMING 2X FRAMING (G >=0.42) . o g
(G >=0.42) {G>=0.42) 1 57 "
_ * e — - ;: Xo 0 oo
N ] ] T AN Sy B BT
“T - Wi EXT. SHEATHING 414 G e 2. Zd
o N DRYWALL \ 3 1 \ f | DRYWALL| ¢ §§ % $a 23
ih ‘ T 383 8%
. v:\: AN o g OE g_
| #10X2-1/2" PFH TN #10X 2-1/2" PFH ‘ 5 88, fg
T WOOD SCREW 5 L}~ WOOD SCREW 1 3 932 %5
V - T ‘6 § . g o
174" MAX. ' /] 14 8 3Sc8 8
a SH;MSPACE\ it \#]0X3"PFH E Bok gg
LET WY e WOOD SCREW PR -
SOE = 1/4" MAX. ; & gg
‘ SHIM SPACE 3 °
]
[»]
\\ I SIDELITE PANEL ~ \ f DOOR P@\
. HEAD: "Fusionframe" (1-PIECE) 2
e #8 X 2-1/2° i COURSE HEAD: FIRE ENDURA WEATHERSTRIP =
ENDURA WEATHERSTRIP  THREAD DRYWALL SCREW (QEBD/PE 650) §
(QEBD/PE 650) (SEE NOTE 1) < o
INTERIOR " EXTERIOR EXTERIOR N INTERIOR s |38
INTERIOR ——— == EE— NOTE: = |88
. Lt
m VERTICAL CROSS SECTION m VERTICAL CROSS SECTION L Spacing for sidelife screws: @ g
\y Inswing shown - Qutswing also approved w Outswing shown - inswing also approved ¢&" from each end (2 total). e o B
3 o s
(o} a4
o <€
a. Q.
g |

UPDATE TO 2018 IBC/IRC CODE

10/23/19]ADD "FusionFrame” OPTION &

1

REVISIONS

Lo
<C
[
S
Z
6

DATE: 11,/09/1

scale:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—-4674

SHEET 5 oF 7/

© zo16 R.W. BUILDING DONSULTANTS ING.



R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-705 Masonite FG NI\C - Drawings\REV 2018 IBC\TX-4674.76.dwg, 6.3

ENDURA
ENDURA DOOR /"
DOOR DOOR SWEEP DO« DOOR SWEEP
PANEL IDBKR)

/ (DBK-ZAC)

N

INTERIOR EXTERIOR

#10 X 2.5' PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

/ 2\ VERTICAL CROSS SECTION
W Inswing Articulating Threshold

#10 X 2.5 PFH WOOD SCREW OR
1/4"* X 2-3/4" ELCO OR ITW CONCRETE SCREW

m VERTICAL CROSS SECTION
\U Inswing Adjustable Threshold

SIDELITE
PANEL

#8 X 2.5" COURSE THREAD

ENDURA WEATHERSIRIP

) NOTE:
#10 X 2.5" PFH WOOD SCREW OR 1. Spacing for sidelite screws:

174" X 2-3/4" ELCO OR [TW CONCRETE SCREW ¢" from each end (2 total).

/ 3\ VERTICAL CROSS SECTION
w Outswing Bump Threshold
SIDELITE 7

PANEL \- m @ @

% 4=

e dndeny
Tpma—

A~

DRYWALL SCREW N e DRYWALL SCREW
[SEE NOTE 1) NN ] (SEENOTE 1) W7 4 <7 INTERIOR
INTERIOR ] EXTERIOR EXTERIOR \ __

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

/4 \ VERTICAL CROSS SECTION
w Inswing configuration

1/4' X

#10 X 2.5" PFH WOOD SCREW OR
2-3/4" ELCO OR ITW CONCRETE SCREW

/5 "\ VERTICAL CROSS SECTION
w Qutswing configuration

=q

» (IR : ; : :
Sl kiR y [y J e :
1 456" | [ 456" | 1 456" | ! 456" |
1")INSWING ADJUSTABLE THRESHOLD INSWING ADJUSTABLE THRESHOLD 3 )INSWING ADJUSTABLE THRESHOLD 4 )INSWING ADJUSTABLE THRESHOLD 5 )INSWING ADJUSTABLE THRESHOLD
ZAlL4565 2 TAI4565FN ZAILAA4565 ZAIAA4565FN ZAI4565RDS
| 4,56 ———| [ 456" | | 456 |
INSWING ARTICULATING THRESHOLD INSWING ARTICULATING THRESHOLD 3 }INSWING ARTICULATING THRESHOLD 9 }INSWING ARTICULATING THRESHOLD 10} /NSWING ARTICULATING THRESHOLD
6 ZACL4565 7 IAC4565FN ZACLAA4565 ZACAAA4565FN ZACA4565RDS
[MAX. DESIGN PRESSURE = +45 PSF |
% &
bl 4.56' | b 456" | 456' |
@ OUTSWING THRESHOLD 12 OUTSWING THRESHOLD 13 OUTSWING THRESHOLD
LOBL4565 IOB4565FN ZOB4565RDS

Lyndon F. Schmidt, P.E
TEXAS P.E. #104123

813.659.9197

P.O. Box 230 Vairico FL. 33595
TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:

CERTIFICATE OF REGISTRATION # F—11852

VERTICAL
CROSS SECTIONS

ENDURA
FIBERGLASS DOOR

PRODUCT:

LFS | PART OR ASSEMBLY:

BY

UPDATE TO 2018 IBC/IRC CODE

10/23/19|ADD "FusionfFrame” OPTION &

1

REVISIONS

Lt
=
<
[}
o
=z
6

oaTE: 11/09/1

SCALE: ~ N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX-4674

SHEET 6 ofF 7

@ 2016 R.W., BUILDING CONSULTANTS INC.



R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-705 Masonite FG NI\C - Drawings\REV 2018 IBO\TX-4674.76.dwg, 7.3

- HEAD ANCHORS: W
s @ 2X FRAMING B0 91 I Wene & o
ok Z (BY OTHERS) #10X 2“]/2 WOOD SCREW {PINE JAMB) JAMB ANCHORS: 3 2.
Ea o #10 X 3" WOOD SCREW (1- PIECE JAMB) & #10 X 2-1/2" WOOD SCREW (PINE/2-PIECE JAMB) Ex & 4%
¥°90 " o — #10 X 3" WOOD SCREW (1-PIECE JAMB) 5. .8 zc¢
LT O (TYP.) 0y Ym 8
< YP.) " .2 £ . Fu
0 ( 6 L 3 Ef o .
) T“ P i S5 £35 32
T 1T T & l T
- d L+ Byt
SEE HINGE . “\ / -1 —T . o 3>n &g
d Zo .
DETALT el T \ DETAIL 1 = 5 B8R #g
i DETAIL 1 &N B v 9EZ .5
S N : o Z8, OY
S . * g 3 g6 ©
« 2 s Dok g%
© N ™~ 5 4] E
13 - : PR g
EH 3 e 7#8x2-1/ "PRHWS | §
g . T s
SEE HINGE SEE STRIKE N . = Hl*
DETAIL 2 : I PLATEDETAL | & #8 X 1" PFH WS 4:, 1o 21— #8 X 3/4" PFH WS
. .o= (YR } ~—— 4" X 4" HINGE 2
N Nz B \{ =
8% DETALL 1 DETAIL 1 | g | &
. 5 \ / \ / 4 . HINGE DETAIL 1 2 |32
] [ IN I ] LI i L 2w
hoctird %)\ v ( 1 * L1 % g
<
SILL ANCHORS: A\ . = o &
" #8 X 2-1/2" PFH WS
47(TYP) —— "" #10 X 2-1/2" PFH WOOD SCREW P / 3 ©
FLOOR SUBSTRATE MATERIAL X2 RO K STRIKE JAMB e [lod] g £
FRAME ANCHORING TW CONCRETE SCREW STRIKE JAMB ; 4 Lol
HINGE JAMB CONCRETE (MIN. 3000 PS|) %6 #BX1"PFHWS <o 1| ®I=== 48 X 3/4" PFH WS ol |-
WOOD (G >=0.42) 1 4" X 4" HINGE =l
I\ &
* ' 3|0
: i P.> .
NOTE: These anchors are required for D.P. > 45 PSF HINGE DETAIL 2 5 o
JAMB NOTES: :'3: Q %)
THE PINE OR "FusionFrame" 1-PIECE JAMB MAY BE INSTALLED @ THE HEAD OR SIDE JAMB. L=
THE Fusionframe" 2-PIECE JAMB MAY BE INSTALLED @ THE SIDE JAMBS ONLY. “E’ g (_/o_)
INTEGRAL MULLION NOTES: £l o
THE FATBOY PINE MULLION, "FusionFrame" MULLION, OR THE "FusionFrame” BACK-TO-BACK S =
JAMB (1-PIECE OR 2-PIECE) MAY ALL BE USED AS THE INTEGRAL MULLION. 2 'f:("
M (e
CONCRETE ANCHOR NOTES: g8 5
1. Concrete anchor locations at the corners may be adjusted fo maintain the min. ;
edge distance to mortar joints. < |
2. Concretfe anchor locations noted as "MAX. ON CENTER" must be adjusted to - 3 Qs
maintain the min. edge distance to mortar joints, additional concrete anchors . S 19
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. #8X 2{:& EACDOURSE - S
3. Concrete anchor table: -1/2" i
DRYWALL SCREW HIOX21/2FHWS =10 |~ MULTIPOINT =
& STRIKE PLATE DTe 11/09/16
SN scate:  N.T.S.
w P | e STRIKE PLATE DETAIL o LJFKS
" " i 1 i CHK. BY:
TAPCON® 1/ 1-3/4 1-1/ 4 Infegral mullion attachment o
ELCO ., . " " TX—4674
ULTRACON®| 174 1-3/4 ! 4
SHEET _/ OF _7

© zo1s R.W. BUILDING CONSULTANTS ING,




